C:# Checking Division Answers

Name:
Check each answer. Determineif the answer is'correct' or 'not'. Answers
/ Division problems can be 263 +8=32r7 182+ 6=29r5 \
checked by multiplying the 39 29 1
quotient by the divisor and then 3 6
adding the remainder. X X
256 174 2
If the answer is the same as the + 7 + 5
& dividend, it is correct. 263 179 |3
1) 770+3=256r12 2) 456+5=91r1 4
5.
6.
7.
3 190+7=27r1 4) 846+5=169r1
8.
9.
10.

5 457+9=50r8

7) 665+8=83r4

9 602+3=200r2

6) 250-9=41r4

8) 342+-8=42r16

10) 529+5=264r1
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Checking Division Answers Name: Answer Key
Check each answer. Determineif the answer is'correct' or 'not'. Answers
/ Division problems can be 263 +8=32r7 182 +6=29r5 \
checked by multiplying the - 29 1 correct
quotient by the divisor and then 6
adding the remainder. x 8 X
256 174 2, correct
If the answer is the same as the + 7 + 5
\_dividend, it is correct. 263 179 Wi E correct
1) 770:3=25612 256 2 456:5=91r1 o1 4. __correct
x 3 x 5 5. not
768 455
+ 2 + 1 6. not
770 456
7. not
3) 190+7=27r1 27 4) 846+5=169r1 169
x _7 X _5 8. correct
189 845
190 846 o not
5 457+9=5018 50 6) 250+9=41r4 41
x 9 x 9
450 369
+ 8 + 4
458 373
7) 665+8=83r4 83 8) 342+8=4216 42
x 8 x 8
664 336
+ 4 + 6
668 342
9 602+3=200r2 200 10) 529+5=1264r1 264
x 3 X 5
600 1320
+ 2 + 1
602 1321
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